Sample Paper

General Aptitude and General Awareness

Max. Marks — 100

Instructions for Candidates:

Attempt all 50 questions, each question carry 02 marks. There is no negative
marking. Please write the correct answer in the form of A/B/C/D at appropriate
given place with blue/black pen.

1. Which Bank has been merged in ICICI
ICICI 3% ® frg dF T e g g
(A)Bank of Rajasthan S AT ST
(B) Punjab National Bank USTTal H9T9eT &4
(C) Sindh Bank foeer &=
(D)Karnataka Bank #FATe® [ ]

2. Who is the the chief Minister of West Bengal
Tt SNTTeT T qEAHAT A
(A)Mamta Banrjee HHAT TSI
(B) Pranab Mukerjee  oTa H[&siT
(C) Subrat Roy ¥H&d T
(D) Sitaram Yeturey —#TaTar® J=[<1 [ ]

3. The result of cricket test matches played between India and England was in favour of
England by

qTA T SIS & oo Gof T 8 HF § SIS o TeT § q0mH T

(A) 3:1 B)4:1 ©)5:0 (D) None of these [ ]

4. Which Vitamin we can get free of charge from nature
THIT & gH HIAET AeTtHT 9 I FT T &
(A) Vitamin A (B) Vitamin B
(C) Vitamin C (D) Vitamin D [ ]



5. Who wrote ‘Discovery of India’
(A)Mahatma Gandhi ~ HgTcHT Tt
(B) Jawahar lal Nehru STATg AT Ag &
(C) Neerad Chaudhary % =Ty
(D) Lord Meghnad Desai TS HIATE I9TS

6. The 9/11 is now an event occurred before

9/11 T =TT T §U E o1
(A) Five Years I a9 (B) Ten Years & T
(CO)Two Years UL (D) Fifteen Years 9rag g

7. What natural phenomena are measured by the 'Richter scale'?

=7 IHT < 9% AT TR gedqT 7T STl 8
(A) Rainfall adT

(B) Snow Fall IaTt

(C) Earthquake T

(D) Temperature qTIHTA

8. Who is Railway Minister of India
IR T <AHT I &
(A)Dinesh Tripathy feerer Pt
(B) Jairam Ramesh STI<TH THYT
(C) Kapil Sibbal Ffuer fFrsaer
(D)Farukh Abdulla T®® Teqedl

9. Find out the next number in the series

STt § T =T 376 ST ISy

6 15 24 33 42 ?
(A) 50 (B) 49
(C) 48 (D) 47

10. When is Teacher’s day celebrated ?
forere faae &g AATAT ATAT 8 ?
(A)16™ August (B) 2™ October
(C)5™ Sepetember (D) 7™ July

11. On what voltage household appliances are operated ?
TR ATeeST 9¥ ST STHLIT FATd ST &
(A)230 (B) 360 (C) 1100

12. Which of the following states has a separate constitution
e Trsat § | o = s "iaema @
(A)Madhya Pradesh #H&T J9T

(D)2200



(B) Uttar Pradesh  3T¥ =T
(C) West Bengal af=rHt s¥TTer
(D)Jammu & Kashmir ST#] & FHeHIT

13. Which Vitamin is abundant in citrus fruits?
Ao TSI | FAET Pt Y= 913 § 9737 14T &
(A)Vitamin A (B) Vitamin B
(C) Vitamin C (D) Vitamin D

14. Which game is played at Wimbledon?
e | lFaT & 9T J1aT1
(A) Tennis 9 (B) Badminton s=fHed
(C)Polo dT<AT (D) Ice Hockey 3= gieht

15. Who is the chief Minister of Uttrakhand
SATEE o EAHAT T FTATH &
(A) Ramesh Pokhriyal T qrEaTe
(B) B.C.Khanduri = & &gt
(C) J.D. Dube STETTH
(D) None of these I & T I off H%DF

16. Which is higher in value

EREIRICEEI P e
(A)4/5 (B) 7/8
© o6/7 (D) 5/6

17. Blood is filtered by which pair of organs ?
ERERIER-ANECCE A E R I
(A)Heart ZaT (B) Lungs ¥
(C) Kidneys 9% (D) Pancreas 31910

18. Saina Mirza is player of which game

HqrEAT ST SAET g et 8

(A)Hockey g (B) Badminton S€fHva
(C) Cricket e (D) Tennis f=&

19. Find the missing value in the series
Fuit H 9 T God AT FIford
TW Z C ?
A) K (B) P (&N (D) F

20. Find out Average 5 7 9 13 17 19 21
fEa FTTET 579 13 17 19 21
(A) 15 (B) 13 (C) 18 (D) 12
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21. A man walks 2 Kilometers to the north, then goes to East for 4 Kilometers then comes to
south for 3 kilometers and moves to west for 4 kilometers. How much he is away from the
original point.

e AT 2 e ries 397, T 93 # 4 frerrtex, fiee aferr § 3 frerretes ua af2e 9 4
e ST | Fg e g A a2 @
(A)1 K.m (B) 2 K.m (C) 3Km (D) 4 K.m [

22. The Gyanpeeth award has been given to
TS TEERTE ohe AT T g
(A) Guljar TASITT (B) Sharyar Khan I8%dX @
(C) Arundhati Roy sr&=efd 1T (D) None of these TAH & &Is gl [

23. Which of the following product is under market based price policy
T | R ScATE TSI AT Jod Aifd H g
(A)Petrol T21er
(B) Diesel <SS
(C) Diesel and Petrol both T2IeT T STl I &1
(D)LPG [

24. Hari is 10™ from either side of the row. How many persons are in the row

TR FAR F A AT 10" eI A g, Fae § Fraa =R g

(A) 20 (B) 19 (©) 21 (D) 10 [
25. Who developed the theory of relativity?
AT & g & o e B
(A)Rutherford TETHIS (B) Walters  dTead
(C) Mendleys EEEE] (D) Einstein 3Tg& [

26. Repo rate is determined by
7 v &t et e & g AT Srar g
(A) State Bank Of India ¥ % 3% 30T
(B) ICICI =73 &t a1re | a2
(C) Finance Ministry {3t #merar
(D) Reserve Bank of India ¥t &4 =1 e [

27. For which of the following disciplines is Nobel Prize awarded?
AT QRPN =H § foe faoit 3 fory famm smar 2
(A)Physics and Chemistry T & THTAT T
(B) Physiology or Medicine 1% fasm 1 f=rferaaT o
(C) Literature, Peace and Economics H‘I‘%?J, NGEE CHIEE]
(D) All of the above IUXI<hH THT 7T [

28. The ozone layer restricts

FTT T R A



(A) Visible light =T Ih1Uq

(B) Infrared radiation SRS fasheon

(C) X-rays and gamma rays ~ X- & IITHT ohe0t

(D) Ultraviolet radiation TeaTaTaTere fershieo [ ]

29. Guarantee to an exporter that the importer of his goods will pay immediately for the goods
ordered by him, is known as

AT & 78 TET & SaTae 39 GIXT SRTAd 7T 1 AT LA HT STl Fgl SITaT &
(A)Letter of Credit (L/C) e 3T Hise

(B) Laissez-faire #Gd%HIT

(C) Inflation ~ ZAFALNT

(D) None of the above TAH & &S HT T-FQPF [ ]

30. He is mathematician and astronomer of the 12th century. His name is associated with India's
seventh satellite. He is

g ATLgAl qal T TS o G AT ¢ SHBT ATH T & T1d9 3T 9 ST2 q8 &
(A)Aryabhatta ~ 3TIHE

(B) Bhaskaral 9T&hY 1

(C) Bhaskara II HTERT 11

(D) None of the above Eﬁ@(qﬁiﬁﬁﬁ'@ [ ]

31. Which plan is in operation in India at present?
AT § i | AT H71AT 8 ?
(A) 9th plan (B) 10th Plan
(O)11th plan (D) 12th plan [ ]

32. First Indo-Pak war was started in the year
UH WA UTh g TR 3T o

(A) 1947 (B) 1948
(C) 1949 (D) 1950 [ ]

33. If the ratio of son’s and Father’s age is 2:3 today and will be 3 :4 after 20 years. What is the
age of the son today?

e = 7 FOar 1 39 7 SAquTd 1T 2:3 § TAT 20 T TETT 3 :4 TR AT A T 0l ST FAT &
(A) 15 years T (B) 20 Years a9
(C) 25 years g (D) 40 years EL [ ]

34. A dealer puts price tag at the 25 % above cost price and gives 8 % discount at the tag price.
What is his net gain in

T TaehaT 0T JoF | Y TTaerd ATee SHidd oRar g U 39 9T 8 JTderd Feldr aar g af

SHHT TI9[E AT AT
(A)17 (B) 15 (C) 33 (D) 16.5 [ ]
35. Which state has largest population in India?
AT o ohel T5T § FATTEF ATEEAT 8
(A) Bihar g™ (B) Uttar Pradesh 3 T <9
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(C) Rajasthan TTSTEAITH (D) West Bengal Tty svrmer [ ]

36. 16 th Asian games were held in
16 & TR @ Fgl st &6 o

(A) China =+ (B) USA rafu=t
(C) India ¥ (D) Britain fsies [ ]

37. Who wrote the book ‘My Experiment with Truth’
T YA ¢ [Eqh e fordt
(A) Mahatma Gandhi FgTcHT ITTeft
(B) Premchand Y9=€
(C) Ravindranath Tagore TTaFgeTY &M
(D) Sarojini Naidu ®ZITSHT ATIE [ ]

38. What is the repo rate after September 2011 credit policy

forqeaT 202 ¢ T |T@ A1Td & TH=Tq RAOr s AT e
(A) 5.5 % (B) 6.75 % (C) 5% (D)8.25 % [ ]

39. On which of the following bases has the Planning Commission defined poverty in India?

AT § FTSTAT AN A o0 ST 9 AT /T IreATog T g
(A)2400 k cal (B) 1800 k cal (C) 2500 k cal (D) 2600 k cal [ ]

40. .If the cellsius temperature is 100, the Fahrenheit temperature will be

T AATHTT ATIHTT ¢ 0 0 g AT FIAGIZE ATTHT ZIRTT
(A)150 (B) 132 (©) 212 (D) 38 [ ]

41. If the interest at the end of the year is Rs 600 and the rate of interest is 12 % what was the
Principal amount in Rupees.?

T 79 % ofq | AT 600 FIIT TAT ATSEL 12 % BT qf FALA TohaaT gIoIT
(A) 50000 (B) 7200 (C) 5000 (D) None of these [ ]

42. Which wild animal is to be saved under a campaign
o v T9p T ST 3 Steaeid S=TaT ST 4T
(A) Lion 9%  (B) Deer @& (C) Tiger aTH (D) Boar I T | ]

43. Which state of India has highest Area
AT o (e TS T ARt TATTE ¢
(A) Assam THH (B) Uttar Pradesh 37T 9a<T
(C) Rajasthan  TTSTEATH (D) Bihar fagm™@ [ ]

44. A boy goes to school at 3 kmph speed and returns at 4 kmph speed. If it takes total 7 hours
than the distance from home to school is?

U G 3 et tex i s it i & S1ar 8, 97 4 e afa =< &t Tfa & ar9ae arar g |
7% THH T 7 5 A 3 AL H TheA I T 8 2
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(A) 8 Km (B) 10 Km (C©) 12 Km D) 9Km [ ]

45. Who was the man of the series in one day match against England
e & fawg UF REd 59 {64 % & HLS Fi o1
(A) M. S. Dhoni (B) Tendulkar
(C) Bainstaw (D) None of these [ ]

46. The following table shows the production of steel in last five years. Attempt question No 46 to
50 on the basis of this table

farferfera arfersT ® R 9= a0t & SHaTa IcaTe aqaTaT AT, TH ST 9T T=7 HE&AT 46

T 50 FT g hiford
Year 2006 2007 2008 2009 | 2010
Production in Million 25 29 32 21 23
Tonnes

In which year the production was highest

o a9 | Icared Afhaw o
(A)2008 (B) 2009 (C) 2010 (D) 2006 [ ]

47. In which year the production was lowest

o T | IeqTes ATH A1
(A)2008 (B) 2009 (C) 2010 (D) 2006 [ ]

48. What is average production
AEq IATaA FohadT 2
(A)25 (B) 36 (C) 26 (D) 23 [ ]

49. What is median production W& IcATEA fohadT
(A)25 (B) 36 (C) 26 (D) 23 [ ]

50. What Is the production trend
SeqTad YA AT
(A) Always increasing H<d i
(B) Always decreasing #ad feT §‘§
(C) Constant fRorx

(D)Fluctuating  3gTa=+ [ ]






